Math 165 Test 5 Name:

1. The average yearly earnings of male college graduates (with at least a bachelor’s degree) are $58500 for men aged
25 to 34. The average yearly earnings of female college graduates with the same qualifications are $49339. Based on
the results below, can it be concluded that there is a difference in mean earnings between male and female college
graduates? Use 1% level of significance. Use P-Value method.

Male x, Female g
Sample mean $59235 $52487
Population standard deviation $8945 510125
Sample size 40 35
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2. Construct a 99% confidence interval for the difference of the two means for problem 1.
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In an effort to increase production of an automobile part, the factory manager decides to play music in the

manufacturing are. Eight workers are selected, and the number of items each produced for a specific day is
recorded. After one week of music, the same workers are monitored again. The data are given in the table. At

a = 0.05, can the manager conclude that the music has increased production?

Worker 1 2 3 4 5 6 7 8
Before 6 8 10 9 5 12 7
After 10 12 9 12 8 13 8 10
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4. Construct a 90% confidence interval for the difference of the two for problem 3.
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According to the Bureau of Labor Statistic’s American Time Use Survey (ATUS), married persons spend an average of
8 minutes per day on phone calls, mail, and e-mail, while single persons spend an average of 14 minutes per day on
these same tasks. Based on the following information, is there sufficient evidence to conclude that single persons
spend, on average, a greater time each day communicating? Use the 0.05 level of significance.

{ e Single 4k, Married
Sample mean 16.7 minutes 12.5 miutes
Sample Variance 8.41 10.24
Sample size 26 20
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6. Construct 90% confidence interval for the difference of the two means for problem 6.
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7. Inasample of 200 men, 130 said they use seat belts. In a sample of 300 women, 63 said they used seat belts. Test

the claim that women are more safety-conscious thanwemen, at o = 0.01 .
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8. Construct a 98% confidence interval for the true difference in the proportion for problem 7.
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